instal |. packages (“sandwich”)
instal |. packages (" Imtest™)
instal |. packages (“tidyverse”)
library (“sandwich”)
library (" Imtest”™)
library ("tidyverse”)
tTr—42 1ty MER
id <- 1:3000
aspirin <- c(rep(1,500), rep(0,2500))
CHDhistory <- c(rep(1,300), rep (0, 200), rep (1, 200), rep (0, 2300))
CHDevent <-
555?5;1,30),rep(0,270),rep(1,2),rep(0,198),rep(1,60),rep(0,140),rep(1,69),rep(O,
df <- data. frame(id, aspirin, CHDhistory, CHDevent)
df$aspirin_lab <- factor (df$aspirin, levels = ¢(0,1), labels = ¢("No
Aspirin®, “Aspirin”))
df$CHDhistory_lab <- factor (df§CHDhistory, levels = ¢c(0,1), labels = ¢(“No
CHDhistory”, “CHDhistory™))
df$CHDevent_lab <- factor (df$CHDevent, levels = ¢c(0,1), labels = ¢(“No
CHDevent”, “CHDevent™))
#EAE K1
df%>%

filter (CHDhistory lab == “No CHDhistory”) -> df0
df%>%

filter (CHDhistory lab == “CHDhistory”) —> dfl
addmargins (table (df$aspirin_lab, df$CHDevent lab))
32/500-129/5000
(32/500) / (129/2500)
addmargins (table (df1§aspirin_lab, df1$CHDevent lab))
30/300-60,/200
(30/300) / (60/200)
addmargins (table (df0$aspirin_lab, df0$CHDevent lab))
2/200-69/2300
(2/200) / (69/2300)
#EE5[E K2 .
#ODORAT 4 v Y [ERET IV
model1 <- gIm(CHDevent ~ aspirin + CHDhistory, family = binomial (link =
“logit”), data = df)
summary (model 1)
estimate<- (summary (model1) $coefficients[2, "Estimate”]) %% exp() %% round (3)
ci. low<-(summary (model1) $coefficients[2, “Estimate”] +
qnorgggjO5/2)*summary(model1)$coefficients[2,"Std. Error”]) %% exp() %%
roun
ci.up<—(summary (model1) $coefficients[2, “Estimate”] +
qnorggé;0.05/2)*summary(model1)$coefficients[2,”Std. Error”]) %% exp() %%
roun
paste "FREY VDA v XLt - mHEEE (SWSHERM TR, 95%SHERMLR)=",
estimate, ” (, ci.low,”,”, ci.up, 7)”, sep— “)
estimate<- (summary(model1)$coeff|c|ents[3, ‘Estimate”]) %% exp() %% round(3)
ci. low<-(summary (model1) $coefficients[3, “Estimate”] +
qnorgggjO5/2)*summary(model1)$coefficients[3,"Std. Error”]) %% exp(O) %%
roun
ci.up<—(summary (model1) $coefficients[3, “Estimate”] +
qnorggé;0.05/2)*summary(model1)$coefficients[3,”Std. Error”]) %% exp() %%
roun
paste ("EENREEBEEDA v XLt © RHEFEE (OO%ERXE TR, 9SWERXAELIR)=",
estimate, ” (7, ci.low,”,”, ci.up, “)”, sep="



HMEIEERT7 Y VETIL

model2 <- glm(CHDevent ™ aspirin + CHDhistory, family = poisson(link = “log”),
data = df)

summary (mode |2) X

EONR FREUZE DWW -EERXEZXRH D

estimate<-coeftest (model2, vcov = sandwich) [2, 11%>% exp O %>% round (3)

ci. low<-(coeftest (model2, vcov = sandwich) [2, 1] + gnorm(0. 05/2) *coeftest (model?2,
veov = sandwich) [2,2]) %% exp() %% round (3)

ci.up<-(coeftest (model2, vcov = sandwich) [2, 1]+ gnorm(1-0. 05/2) *coeftest (model?2,
veov = sandwich) [2,2]) %% exp () %% round(3)

paste( TFREYDUDYRY L RHEEE (OWMEERME TR, 95WMEHERM LR =",
estimate, ” (“, ci.low,”,”, ci.up, *)”, sep="")

estimate<-coeftest (model2, vcov = sandwich) [3, 11%>% exp O %% round (3)

ci. low{-(coeftest (model2, vcov = sandwich)[3,1] + gnorm (0. 05/2) xcoeftest (model?2,
veov = sandwich) [3,2]) %% exp() %% round (3)

ci.up<—(coeftest(mode|2, vcov = sandwich) [3, 11+ gnorm(1-0. 05/2) *coeftest (model?2,
veov = sandwich) [3,2]) %% exp() %% round (3)

paste "EEAREEBEEED VAV - RIEEME (OWEMRE TR, ISHEMXAELIR) =",
estimate, ” (7, ci.low,”,”, ci.up, “)”, sep="



